‘ Chapter 2a - Rational Expressions - REVIEW
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Section 1: Negative and Rational Exponents

1) Evaluate. Express as a fraction in lowest terms.

a) 101 b) 4-2 €) 372 491
__'\_ ) = —'—11 = _'/ 4
= q 7'
L .y
gl -4
05 45 0" 0()”
| N 3
- E;)if \ - (.@\.\\ - (%>
v - 5 e

5

2) Simplify. Express your answers using only positive exponents.
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3) Simplify. Express your answers using only positive exponents.
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4) Evaluate.
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5) Simplify. Express answers using only positive exponents.
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Section 2: Rational Expressions - %5‘/ 5
6) Simplify each expression and state all restrictions on x.
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7) Simplify each expression and state the restrictions.
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8) Simplify each expression and state restrictions.
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9) Simplify each expression and state any restrictions
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